
42 42 42 3434

Stop A Stop B

Vehicle occupancy

Segment 1

Stop C

Segment 2 Segment 3

Stop D Stop E

47 4721 47

0 1 0 10

Crossroads A

Vehicle delay

Segment 1 Segment 2 Segment 3

2 31 2

Segment 0

Segment 0

Crossroads B Crossroads C Crossroads ECrossroads D

2 34



 
   
     
       
         
         
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
      
    
  


